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 si ediug gninrael sihT ecen eht uoy edivorp ot depoleved  eht gnidrager noitamrofni yrass  gniwollof

egarevoc tnetnoc  :scipot dna  

 .tnemerusaem eht gniniatbo fo dohteM gniylppa dna gnitceleS  

 epat dna elur gnisu tnemerusaeM gniniatbO  

  gnidulcni ,stnemerusaeM. gnidrocer dna gnimrifnoC  semulov dna saera  

 ,yllacificepS .egap revoc eht ni detats emoctuo gninrael eht niatta ot uoy tsissa osla lliw ediug sihT

 ,ediuG gninraeL siht fo noitelpmoc nopu ot elba eb lliw uoy : 

 tceleS  ylppa dna   dohteM niatbo fo   eht .tnemerusaem  

 niatbO  su stnemerusaeM  .mm1 ot etarucca epat ro elur a gni  

 mrifnoC   dna drocer  stnemerusaeM semulov dna saera gnidulcni , . 

  :snoitcurtsnI gninraeL  

 .ediuG gninraeL siht fo sevitcejbo cificeps eht daeR  

 .6 ot 3 woleb debircsed snoitcurtsni eht wolloF  

 nettirw noitamrofni eht daeR 3 teehS dna ,2 teehS ,1 teehS“ noitamrofni eht ni  

fleS“ eht hsilpmoccA - fleS ,1 kcehc - fleS dna ,2 kcehc -  egap ni 3 kcehc -4 ylevitcepser dna ,8 , 82  .  

 fi  fleS“ eht morf noitaulave yrotcafsitas a denrae uoy -  egap ni 1 teehS noitarepO“ ot deecorp ”kcehc

- 92  

t oD  egap ni ”tset PAL“ eh – 92   .)ydaer era uoy fi(  
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 .1.1 gnitceleS  fo  tnemerusaem  

ititnauq dna snoitpircsed otni noitamrofni nward fo noitamrofsnart eht si tnemerusaeM  ,se

.tnemeganam evitceffe gnilbane sa llew sa ,krow noitcurtsnoc ecirp dna ,tsoc ,eulav ot nekatrednu  

 gnirud ecirp ot srotcartnoc rof seititnauq fo llib a gnicudorp royevrus ytitnauq a tuoba tsuj ton si tI

erp htob ni desu si tI .gnirednet - tsop dna - rtnoc  eht fo tsoc ylekil eht ssessa gnipleh ,krow tca

 neeb sah taht krow rof diap eb dluohs srotcartnocbus dna srotcartnoc tahw gninimreted dna ,skrow

.detelpmoc  

snalP  dna  sgniward  wohs  sgniht  taht  era  ot  eb  

,detcurtsnoC  hcus  sa  ,snoitadnuof  sllaw  dna  

.secneF  hT ye  osla  wohs  s'tahw  ydaerla  no  ro  raen  

ehT  ,etis  hcus  sa  ,seert  secivres  dna  gnirobhgien  

sA  llew  sa  eseht  elbignat  smeti  sgniht(  

ew  nac  yllautca  ees  ro  ,)hcuot  snalp  dna                              epat gnirusaem 1.1 erugif  

sgniwarD  osla  wohs  stol  fo  rehto  tnatropmi  

,noitamrofnI  gnidulcni  ,slevel  ,stneidarg   sthgieh dnA  .stnemerusaem  

tnemerusaeM fo dohteM dradnatS 2.1  

 tnemerusaeM fo dohteM dradnatS  dezilacol a enimreted ot desu tnemucod ecnerefer a si )MMS(

deen locotorp tnemerusaem noitcurtsnoc fo euqinhcet  seititnauQ fo slliB doog a gnicudorp ni de

 eht fo noitaraperp ehT .tcejorp eht rof tnemucod tcartnoc eht otni detaroprocni neht si hcihw )QB(

 eht ecirp ot rotcartnoc eht pleh yllautca lliw krow lautca eht fo evitcelfer si taht MMS no desab QB

silaer rednet  citsilaer a ta ti ecirp ylreporp ot eruliaf yberehw ,ssenisub suoires a si gniredneT .yllacit

 ot laicurc si ti ,suhT .noitazinagro s’rotcartnoc eht ot tcapmi dab a evig nac level elbatiforp dna

teehS noitamrofnI -1 tnemerusaem eht gniniatbo fo dohteM gniylppa dna gnitceleS  
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fo noitide owt eht etagitsevni ot demia hcihw hcraeser tcudnoc   skrow gnidliub rof MMS eht

 gnivorpmi sdrawot gnisucof ,sQB eht fo noitaraperp eht ni noisrev 2MMS dna 1MMS eht neewteb

 eht fo weiv nI .noitcurtsnoc dna rednet fo esruoc eht gnirud srotcartnoc eht fo noitaicerppa eht

t tpmetta lliw repap siht ,rettam evoba  tnemerusaem fo dohtem eht no secnereffid wef a yfitnedi o

 eht fo noitacilppa eht no noitpecrep ’srotcartnoc eht ezylana ot dna 2MMS dna 1MMS neewteb

..etis no krow eht fo evitcelfer dna yllacitsilaer rednet eht gninimreted ni MMS  

gnisU erusaeM ot woH 1.2.1   epaT a  

 dellac osla ,erusaem epat A  ,epat gnirusaem  edam era serusaem epaT .relur elbixelf fo epyt a si

 tsom eht gnoma era yehT .htolc dna citsalp ,ssalg rebif gnidulcni ,slairetam fo yteirav a morf

.yadot desu sloot gnirusaem nommoc  

t ,gnikaeps yllareneG llor a ot srefer ”erusaem epat“ mret eh - fles ,pu -  erusaem epat elyts gnitcarter

 yllausu si ’,nobbir‘ eht dellac ,erusaem eht fo noitop epat lautca ehT .yrtneprac rof dengised s’taht

tub dedeen nehw neffits nac taht lairetam cillatem ffits a morf detcurtsnoc   rof pu llor osla nac

 serusaem epat fo sepyt lla srevoc mret eht ,revewoH  .egarots dna esu elpmis – .epat s’roliat neve  

. 
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fleS -  kcehC -1 tseT nettirW  

 

:snoitceriD   edivorp teehs rewsnA eht esU .woleb detsil snoitseuq eht lla rewsnA  txen eht ni d

:egap  

.1  )stniop 4(  ?tnemerusaem fo dohteM dradnatS si tahW  

.2  si_________  edam  pu  fo  a elbixelf  latem  edalb  desuoh  ni  a latem  ro  )stniop 2(.esaccitsalp  

.3  :sa hcus ,detcurtsnoc eb ot era taht sgniht wohs sgniward dna snalP - )stniop 4(.  

 

 

 

 

 

 

rewsnA  teehS  

 

 

 

 

_______________  :etaD _________________________  :emaN  

 

snoitseuQ rewsnA trohS  

.1  _________________________________________________________________________

_______________________________________________  

 

.2  ______________________________  

 

.3  ________ . ____________________________________________________  

 

 

 

___________ = erocS  

____________ :gnitaR  

:etoN   gnitar yrotcafsitaS - stniop 01 fo tuo 5    yrotcafsitasnU -  woleb  01 fo tuo 5  stniop  

 eht rof rehcaet uoy ksa nac uoY .srewsna tcerroc eht fo ypoc  
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teehS noitamrofnI -2 epat dna elur gnisu tnemerusaeM gniniatbO  

 

1.2   epaT ro elur gnirusaeM fo snoitcudortni  

 

 noitanimircsid eht taht si ”net ot eno“ ro ”neT fo eluR“ eht detats ylpmis :erusaem elur A  )noituloser(

 otni derusaem eb ot citsiretcarahc eht fo ecnarelot eht edivid dluohs tnemurtsni gnirusaem eht fo

 eht sa etarucca sa semit 01 eb dluohs tnemurtsni gnirusaem ro egag eht ,sdrow rehto nI .strap net

.derusaem eb ot citsiretcarahc  

o erusaem epat A  a fo stsisnoc tI .ecnatsid erusaem ot desu dna relur elbixelf a si :epat gnirusaem r

raenil htiw pirts latem ro ,ssalg rebif ,citsalp ,htolc fo nobbir -  nommoc a si tI .sgnikram tnemerusaem

.loot gnirusaem  

kat ,pihsnamstfarc dna noitcurtsnoc ot semoc ti nehW  eht eb nac stnemerusaem etarucca gni

 ,hcaorppa reporp eht htiw ,ylikcuL .eno rapbus a dna tcudorp dehsinif taerg a neewteb ecnereffid

 ruoy tuoba deen uoy noitamrofni eht uoy teg ot yaw ysae ,kciuq a eb nac erusaem epat a gnisu

a esu ot woh gniwonK .tcejorp nobbir lanoitidart a dna erusaem elbatcarter a htob daer dn -  elyts

 dna yadot nrael os ,sdnah reh ro sih htiw gnikrow enoyna ot tessa rojam a eb nac erusaem epat

!gnirusaem trats  

 erusaem epaT eht gnidaeR 2.2  

gnidaeR  rof seititnauq gnitaluclac ro gnirusaem ,  stcejorp gnidliub eht   fo tinu desu nommoc tsom

.)mm( sertemillim si yrtsudni noitcurtsnoc eht ni tnemerusaem  L ,shtgne  ,shtdiw   sthgieh dna shtped

 sertemillim ni nevig yllausu era erehw   fo htgnel eht sa hcus ,nwohs era snoisnemid regral

seiradnuob   etis a no .desu eb lliw )m( sertem ,nalp  

  tsuj enoyreve ,elpmaxe roF .nettirw ton si flesti tinu eht netfO .desu ylerar yrev era sertemitneC

sertem snaem ti nettirw si 006.3 fi saerehw ,sertemillim snaem ti nettirw si 0063 fi taht swonk  
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dna noitaiverbba 1.2 elbaT   noitasrevnoc  

tinU  noitaiverbbA  elpmaxE  noisrevnoC  

retemilliM  mm  A ecnef  dluoc  eb  0021  .hgih  1 mm  = 100.0  m 

retemitneC  mc  yleraR  desu  ni  eht  

noitcurtsnoC  .yrtsudni  

1 mc  = 01  mm  

001  mc  = 1 m 

reteM  m A ecnef  dluoc  eb  06.41  .gnol  1 m = 0001  mm  

 

evnoC 3.2 gnitr  sretem  dna  sretemillim  

semitemoS  s’ti  yrassecen  ot  trevnoc  sertem  ot  .sertemillim  enO  ertem  si  0001  semit  

regnoL  naht  eno  ,ertemillim  os  uoy  tsuj  deen  ot  evomer  eht  lamiced  tniop  dna  ekam  

eruS  ereht  era  eerht  serugif  retfa  eht  retem

roF  elpmaxe  

                                                          756.2  m semoceb  7562  mm  

                                                          23.4  m semoceb  0234  .mm  

 

oT  trevnoc  sertemillim  ot  ,sertem  evom  eht  lamiced  tniop  eerht  secalp  ot  eht  tfel  ot  

ekaM  eht  un rebm  daer  sa  eno  dnasuoht  semit  .rellams  

roF  elpmaxe : 

                                0642  mm  semoceb  64.2  m 

                               59721  mm  semoceb  597.21  .m  

.tniop lamiced eht erofeb orez a tup ,0001 naht ssel si sretemillim fo rebmun eht fI  

 roF .m 597.0 semoceb mm 597     :elpmaxe  

dna dne tfel eht ot seorez dda ,serugif eerht naht ssel si sretemillim fo rebmun eht fI  

m 560.0 semoceb mm 56 :elpmaxe roF     .tniop lamiced eht ecalp nehT  

                                                                                   m800.0 semoceb mm 8
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oT  trevnoc  sertemillim  ot  ,sertem  evom  eht  lamiced  tniop  eerht  secalp  ot  eht  tfel  ot  

ekaM  eht  rebmun  daer  sa  eno  dnasuoht  semit  .rellams  

roF  :elpmaxe  

                              0642  mm  semoceb  64.2  m 

                               59721  mm  semoceb  597.21  .m  

.tniop lamiced eht erofeb orez a tup ,0001 naht ssel si sretemillim fo rebmun eht fI  

.m 597.0 semoceb mm 597     :elpmaxe roF  

e tfel eht ot seorez dda ,serugif eerht naht ssel si sretemillim fo rebmun eht fI dna dn  

m 560.0 semoceb mm 56 :elpmaxe roF     .tniop lamiced eht ecalp nehT  

                                                                                   m800.0 semoceb mm 8  
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:snoitceriD   q eht lla rewsnA  eht ni dedivorp teehs rewsnA eht esU .woleb detsil snoitseu

:egap txen  

.1           trevnoC   sretem gniwollof eht  )stniop 8(.  sretemillim ot  

.A  m  652  

.B  m 543  

.C  m 234  

.D  m 222  

.2   si tahW epat gnirusaem  )stniop 2  

 

 

 

 

teehS rewsnA  

 

  :etaD _________________________  :emaN _______________  

snoitseuQ rewsnA trohS  

.1  _____________  

.2  _____________  

.3  _____________  

.4  _____________  

.5  _____________  

fleS -  kcehC -2 tseT nettirW  

___________ = erocS  

____________ :gnitaR  

:etoN   gnitar yrotcafsitaS -  tuo 5 stniop 01 fo    yrotcafsitasnU -  woleb  01 fo tuo 5  stniop  

 eht rof rehcaet uoy ksa nac uoY .srewsna tcerroc eht fo ypoc  
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teehS noitamrofnI -
3 

  gnidrocer dna gnimrifnoC  gnidulcni ,stnemerusaeM
semulov dna saera  

              
 .1.3 nidrocer dna gnimrifnoC semulov dna saera gnidulcni ,stnemerusaeM g  

  stnemerusaem gnimrifnoC  
 

 ev’uoy fi yaw tahT .meht esu uoy erofeb nekat ev’uoy stnemerusaem yna kcehc syawlA  

.etal oot s’ti erofeb ti tcerroc nac uoy ,ekatsim a edam  

 .1.1.3  stnemerusaem gnidroceR  
r uoy woH gniog s'ti woh no dneped lliw tnemerusaem a droce  

 evah lliw secalpkrow tnereffid dna sksat tnereffiD .desu eb ot  

.stnemeriuqer tnereffid  

snoitaluclac ,stnemerusaem lla taht si gniht tnatropmi tsom ehT  

 ,yletarucca dna ylraelc dedrocer eb ot deen slatot ro  gnidulcni  

 eht gnidaer enoyna taht tnatropmi s'tI .stinu tcerroc eht gnisu  

ti no yler dna ti dnatsrednu nac noitamrofni .                  1.3giF  stnemerusaem gnidrocer  

 
2.1.3 . stnemerusaeM semulov dna saera gnidulcni ,  

ilrae stnemerusaem raenil ta dekool eW  eb nac stnemerusaem raeniL .ediug siht ni re  

 tsom owt txen eht ,emulov dna aera etaluclac ot desu eb nac yeht ro ,era yeht sa desu  

.yrtsudni noitcurtsnoc eht ni stnemerusaem desu yltneuqerf  

 

3.1.3 . sesU  stnemerusaem tnereffid fo  
ehc ot emit doog a si woN fo sepyt tnereffid tuoba ydaerla wonk uoy tahw kc  

.stnemerusaem  

 snoitaluclaC  
elgnatcer a fo retemirep eht gnitaluclaC  

ruof yna si elgnatcer A -  fo era sedis etisoppo dna ,°09 era selgna lla erehw erugif dedis  

.ereh nwohs sa ,lellarap dna htgnel lauqe  

 

 

W 
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L 

 W edis retrohs eht dna )htgnel rof( L edis regnol eht lebal ew ,salumrof gnihsilbatse roF  

:etirw nac ew ,retemirep eht rof sdnats P fI .)htdiw rof(  

W + L + W + L = )elgnatcer( P  

W2 + L2 =  

)W + L(2 =  

ep eht gnitaluclac rof alumrof eht ,eroferehT :si elgnatcer a fo retemir  

 

                                             )W + L(2 = )elgnatcer( P  

2 elpmaxE  
.m 4 si htdiw esohw dna m 8 si htgnel esohw elgnatcer a fo retemirep eht dniF  

:noituloS  

1 petS  
margaid a warD  

 
 

             4 m 
                            m 8  

     
  2 petS  

.alumrof etairporppa eht nwod etirW  

)W + L(2 = )elgnatcer( P  

 3 petS  

.rewsna eht etaluclac dna alumrof eht otni srebmun etutitsbuS  

m )4 + 8(2 = )elgnatcer( P  

m )21(2 =  

m 42 =  

 sretemirep xelpmoc erom gnitaluclaC  
 sesuoh tsoM  nac uoy tub ,elgnatcer elpmis a tsuj t’nera  

 tuo krow ot denrael tsuj uoy sa dohtem emas eht esu  

.oot sretemirep rieht  
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                                                              2.3giF sretemirep xelpmoc erom gnitaluclaC  

 
.3giF 3 lgnatcer fo retemireP e 

1 elpmaxE  
.gniward esuoh a fo elpmaxe siht ta kool a evaH  

                                                                  

:noituloS  

 )W + L(2 = elgnatcer fo retemireP  

 m )4 + 6(2 =  

 m 02 =  

4.1.3 . raeniL   stnemerusaem  

 si stnemerusaem raenil gnitaluclaC  ot ralimis yrev  

 uoy tpecxe ,aera na fo retemirep eht gnitaluclac  

 aera ro tcejbo eht fo htgnel eht ylno etaluclac  

 .retemirep latot eht fo daetsni deriuqer  

a pu erusaem ot sdeen retneprac a ,elpmaxe roF               4.3gif stnemerusaem raeniL  

cificeps   gnitriks rebmit erehw esuoh wen a ni aera  

 dettod eht ,gniward gniwollof eht nO .dexif eb ot si  

 .dexif eb ot si gnitriks rebmit erehw etacidni senil  
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      5.3giF  tnemerusaem raenil  

r gnitriks fo htgnel latot eht ei ,tnemerusaem raenil eht etaluclac oT  ylpmis uoy ,deriuqe  

:ekil skool taht oS .shtgnel eht fo hcae pu dda  

A  + 2.3 B  + 5.3 C  + 2.3 D  + 4 E  3  

)sertem laenil( mL 9.61 =  

.deriuqer gnitriks rebmit fo mL 71 ot ffo dednuor eb neht nac latot ehT  

 elcric a fo ecnerefmucric eht gnitaluclaC  
c a revenehW  eht taht esac eht syawla s'ti ,ezis eht rettam on ,nward si elcri  

sa erugif siht ot refer eW .retemaid eht semit 6141.3 yletamixorppa si ecnerefmucric  

:si elcric a fo ecnerefmucric eht gnidnif rof alumrof ehT .π rettel keerG eht ,’ip‘  

 π = C d ×  

= C :erehw  ecnerefmucric  

retemaid = d  

6141.3 = π  
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            .3giF .6  elcric  

eb dluow )d( retemaid eht neht ,mm 03 si ereh nwohs elcric eht ni )r( suidar eht fi ,oS  

.)mm 03 × 2 ei( mm 06  

1 elpmaxE  

.mm 05 retemaid fo csid gnidnirg a fo ecnerefmucric eht dniF  

oituloS  :n  

1 petS  

.margaid a warD  

 

           .3giF elcric 7  

2 petS  

.alumrof etairporppa eht nwod etirW  

 π = C d ×  
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3 petS  

.rewsna eht etaluclac dna alumrof eht otni srebmun etutitsbuS  

mm 05 × 6141.3 = C  

80.751=  mm  

2 elpmaxE  

r fo elcric a fo ecnerefmucric eht dniF .mm 53 suida  

 :noituloS  

 

        .3giF 8. elcric  

mm 53 = suidar ehT  

mm 53 × 2 = retemaid ehT  

mm 07 =  

π= C woN d ×  

mm 07 × 6141.3 =  

mm 9.912 =  

 elgnatcer a fo aera eht gnitaluclaC  
:si elgnatcer a fo aera eht gnidnif rof alumrof ehT  

W × L = )elgnatcer( A  

erehw aera eht ni stinu erauqs fo rebmun = A :  
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htgnel = L  

htdiw = W  

erauqs ertemillim 01 a si sihT  

 

 .3giF .9  elgnatcer   

 siht fo aera eht neht ,0007 = 07 × 001 fi ,oS .mm 07 yb mm 001 si elgnatcer sihT  

m 0007 si elgnatcer 2. 

           

:etoN  im htdiw dna htgneL  dna htgnel ro ,thgieh dna esab dellac eb osla thg  

.stneserper elgnatcer eht tahw no gnidneped ,htdaerb  

.stinu emas eht ni derusaem eb tsum htdiw eht dna htgnel ehT  

1 elpmaxE  

 fo htdiw a sah dna htgnel ni mm 0005 si hcihw roolf etercnoc a fo aera eht dniF  

.mm 0003  

noituloS  
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               giF   01.3 elgnatcer  

W × L = )elgnatcer(A  

mm )0003 × 0005( = 2 

mm 000 000 51= 2 

m 51= 2 

2 elpmaxE  

.hgih m 5.0 dna gnol m 5.2 si hcihw llaw kcirb a fo aera eht dniF  

noituloS  

 

        giF  1.3 1 elgnatcer  

tcer(A W × L = )elgna  

m )5.0 × 5.2( = 2 

m 52.1= 2 

 elcric a fo aera eht gnitaluclaC  
:si elcric a fo aera eht gnitaluclac rof alumrof ehT  

rπ = )elcric( A 2 

r × r × 6141.3 =   ro   d2 
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1 elpmaxE  

.mm 001 fo suidar a htiw elcric a fo aera eht dniF  

noituloS  

                

              giF  1.3 2 elgnatcer  

rπ = )elcric( A 2 

mm )001× 001× 6141.3( = 2 

mm 614 13 = 2 

2 elpmaxE  

o aera eht dniF .m 7 fo retemaid a htiw elcric a f  

noituloS  

 

  giF  1.3  3 elcric  

7 = retemaid eht ecniS  

 
5.3 = = suidar eht neht  

rπ = )elcric(A 2 

m )5.3 × 5.3 × 6141.3( = 2 

m 584.83 = 2 
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 elgnairt a fo aera eht gnitaluclaC  
 elgnairt a fo aera eht gnitaluclac rof alumrof ehT si  

 

 

        giF   31.3 elgnairt   

evitaler eb tsum thgieh eht tub ,sedis eerht eht fo yna no eb yam elgnairt a fo esab ehT  

seerged ytenin ta esab eht ot  

1 elpmaxE  

.m 5 fo thgieh a dna m 61 fo esab a htiw elgnairt a fo aera eht dniF  

:noituloS  

 

             F gi   41.3 elgnairt  
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2 elpmaxE  

.mm 21 fo thgieh a dna mm 34 fo esab a htiw elgnairt a fo aera eht dniF  

:noituloS  

 

   giF  1.3 .5 elgnairt  

=   

3 elpmaxE  

.woleb elgnairt eht fo aera eht dniF  

:noituloS  

 

   giF  1.3 6. elgnairt  
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4 elpmaxE  

nairt eht fo aera eht dniF .woleb elg  

:noituloS  

thgir a si siht esuaceB - .thgieheht stneserper osla mm 5 dekram edis eht ,elgnairt delgna  

 

   giF  1.3 7. elgnairt  

 

 muizepart a fo aera eht gnitaluclaC  
ruof a si muizepart A -  etisoppo sti fo riap enO .sedis thgiarts htiw epahs talf dedis sedis  

.detacidni era sedis lellarap eht ,woleb derutcip muizepart eht nI .lellarap ni eb lliw  

 

   giF  1.3 8 muizepart A  

thgieh eht semit ,sedis lellarap eht fo mus eht flah slauqe muizepart a fo aera ehT  

:si siht ,alumrof a sA .meht neewteb  
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H× B+A =A  

 

                                               giF  1.3 9 muizepart  

 sepahs dnuopmoc fo aera eht gnitaluclaC  
 ot evah netfo uoy ,sngised emoh yraropmetnoc htiW  

 llA .saera roiretxe dna roiretni htob ni sepahs xelpmoc erom fo aera eht etaluclac  

swodniw evah semoh  elihw ,sfoor no snoitces ralugnairt evah yam emos ;srood dna  

 .sezis dna sepahs fo egnar a ni serutaef ngised edulcni yam srehto  

sepahs otni meht edivid ot deen uoy ,sepahs xelpmoc erom fo aera eht etaluclac oT  

ge ,ylisae erom detaluclac eb nac aera esohw   .serauqs ro selgnatcer  

 

 

 

 

 

 

                                                     dnuopmoc 02.3giF  sepahs  

L na s'tI .nalp roolf siht ta kool a ekaT -  eht etaluclac ot tluciffid ti sekam hcihw epahs  

 .aera  
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        giF  .3 .12  nalp roolf  

viD  ,epahs siht htiW .htiw krow ot reisae era taht sepahs fo snoitces otni roolf eht edi  

.taht od nac uoy syaw owt era ereht  

 

           giF  2.3 2. nalp roolf  

 ot reisae hcum won s'ti ,sepahs elpmis owt otni epahs xelpmoc siht gnidivid yB  

a latot eht etaluclac aer  

1 elpmaxE  

.epahs siht fo aera eht dniF  
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:noituloS  

thgieh × htdiw = A elgnatcer fo aerA  

m )5.2 × 3( = 2 

m 5.7 = 2 

thgieh × htdiw = B elgnatcer fo aerA  

m )5.1× 6( = 2 )m 1+ 3 + 2 = htdiw eht ecnis(  

m 9= 2 

B + A = selgnatcer fo aera latoT  

m )9 + 5.7( = 2 

.61= m 5 2 

2 elpmaxE  

.epahs siht ni noiger dedahs eht fo aera eht dniF  

 

:noituloS  

.mm 06 eb tsum retemaid sti ,mm 03 fo suidar a sah elcric eht ecniS  

 neht ,erauqs eht fo sedis eht ot sdnetxe elcric eht fo retemaid eht ecnis ,eromrehtruF  

erauqs eht fo sedis eht  .gnol mm 06 eb osla tsum  

H× W = erauqs fo aerA  

mm )06 × 06( =  

mm 0063 = 2 

rπ = elcric fo aerA 2 
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mm 03 × 03 × 6141.3 =  

mm 44.7282 = 2 

 erauqs fo aera = noiger dedahs fo aerA - elcric fo aera  

 0063( = - mm )44.7282 2 

mm 65.277 = 2 

noiger a fo trap fo aera eht nehW   llarevo eht fo aera eht morf detcartbus si epahs ro

 eht sa nwonk si rewsna eht ,epahs ro noiger aera ecafrus ten  rof desu si sihT .  

 eht fo aera eht sunim llaw a rof deriuqer skcirb fo rebmun eht gnitaluclac ekil sgniht  

ht ro ,)srood dna swodniw( sgninepo  fo aera eht sunim draytruoc a rof deriuqer gnivap e  

.sdeb nedrag  

 emulov gnitaluclaC  
era noitcurtsnoc dna gnidliub ni emulov fo snoitaluclaC  

:eht ekil sgniht enimreted ot desu  

 noitadnuof eht morf detavacxe eb ot lios fo emulov •  

sgnitoof rof  

 fo emulov • edivorp ot etis gnipols a morf devomer eb ot lios  

no dliub ot aera level a  

sbals roolf rednu ge ,llif sa deriuqer lairetam fo tnuoma •              giF  2.3 3. emulov  

cibuc ge ,boj ralucitrap a rof deriuqer slairetam fo ytitnauq •  

rb ni esu rof dnas fo sertem ratrom s’reyalkci  

edeen etercnoc fo emulov • .sbals dna sgnitoof pirts rof d  

 msirp a fo emulov eht gnitaluclaC  
dna epahs dna ezis emas eht era taht sdne lacitnedi owt htiw epahs dilos a si msirp A  

 tsom eht era serauqs dna selgnatceR .rehto hcae ot lellarap  sepahs msirp nommoc  

 uoy ,msirp a fo emulov eht etaluclac oT .noitcurtsnoc dna gnidliub ni htiw laed ll’uoy  
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:si ti ,alumrof a sA .thgieh sti yb aera sti ylpitlum  

          H × A = V  

emuloV  m( sertem cibuc ni syawla si 3 .)  

 

 

      giF  2.3 5. msirp  

cer a roF :elgnatcer a si esab eht ecnis ,dilos ralugnat  

   W × L = )elgnatcer( A  

   V oS H × W × L = )dilos ralugnatcer(  

msirp ralugnatceR  

 a fo emulov eht etaluclac ot deen netfo ll’uoY  

 tcejorp a ta kool s’tel ,elpmaxe roF .dilos ralugnatcer  

t emoh egral a erehw  na sa tliub gnieb si moor ertaeh                             
                                                                                 giF  2.3 6. ralugnatcer emuloV  dilos           
 a si moor wen ehT .emoh gnitsixe na ot noisnetxe  

a ,epahs ralugnatcer  woh tuo krow ot evah uoy dn  

.bals eht rof deriuqer eb lliw etercnoc hcum  

 si elgnatcer a fo aera eht etaluclac ot desu alumrof eht taht wonk ydaerla uoY  

W × L = A  :si dilos ralugnatcer a fo emulov eht gnitaluclac nehw esu uoy alumrof ehT .  

H × W × L = V  

T  071 eb lliw thgieh stI .m 3 fo htdiw a dna ,m 7 fo htgnel a sah moor wen eht ni bals eh  
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 eb dluow tuo gnikrow ruoy ,emulov eht etaluclac oT .esuoh gnitsixe eht htiw tif ot ,mm  

.swollof sa  

H× W ×L= V  

71.0 × 3 × 7 =  

m 75.3 = 3 

1 elpmaxE  

 emulov eht etaluclaC .ereh nwohs xob ralugnatcer eht fo  

 

         giF 72.2  xob ralugnatcer  

:noituloS  

H× W × L = )dilos ralugnatcer(V  

m11×7×3= 3 

m132 = 3 
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fleS -  kcehC -3 tseT nettirW  

 

:snoitceriD    eht ni dedivorp teehs rewsnA eht esU .woleb detsil snoitseuq eht lla rewsnA

n :egap txe  

 

.1   fo htdiw a sah dna htgnel ni mm 0005 si hcihw roolf etercnoc a fo aera eht dniF  0003

mm . )tniop 4(  

 

                   
                

.2  woh  ot   emulov eht etaluclaC  xob ralugnatcer eht fo . )tniop 4(  

 

 

 
 

 

 

 

 

 

 

 

 

:etoN   stniop 8 fo tuo 4_evoba yrotcafsitaS             yrotcafsitasnU - tniop 8 fo tuo4 woleb  
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teehS rewsnA  
 

 

 

  :emaN _________________________              _______________  :etaD  

 

_________________.1  

 

_________________.2  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

___________ = erocS  

____________ :gnitaR  
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1 teehS noitarepO  
epat ro elur a gnisu stnemerusaeM gniniatbo    

seuqinhcet  

 

 rof seuqinhceT epat ro elur a gnisu stnemerusaeM gniniatbo  rP :erudeco - 

      1spetS   krow eht rof erofeb flesruoy eraperP  

        :2 petS  sloot tnemerusaem eraperP  

        :3 petS  ecnatsid nevig htiw tnemerusaem trats    

        :4 petS   gniggas tuohtiw ylluferac daer  

        :5 petS y ot gnidaer er’uoy timmus yllanif    rehcaet ruo  

       :6 petS sloot gnirusaem erots dna tcelloc   

 

tset PAL gniwollof eht od erudecorp evoba eht gnisu yB  

 

 

 

 

________________  :etaD   _____________________________  :emaN  

__________________ :detrats emiT   ______  ________________  :dehsinif emiT  

:snoitcurtsnI   ot deriuqer era uoy slairetam dna sloot ,setalpmet yrassecen neviG

nihtiw sksat gniwollof eht mrofrep   1 .ruoh  

1ksaT  gniniatbo  epat ro elur a gnisu stnemerusaeM  

 

 

 

 

 tseT PAL  noitartsnomeD lacitcarP  
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slairetaM ecnerefeR fo tsiL  

. 

             .1 UUwpyXnwoZ1=v?hctaw/moc.ebutuoy.www//:sptth  

            .2 QQ4bvHZjDRh=v?hctaw/moc.ebutuoy.www//:sptth  

            .3 QQ4bvHZjDRh=v?hctaw/moc.ebutuoy.www//:sptth  
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I xennA  

snA  ediug gninrael rof syek rew - 72  

yek rewsnA  

fleS - kcehc  

    teehS noitamrofnI -1 

1. cnerefer a si )MMS( tnemerusaeM fo dohteM dradnatS  enimreted ot desu tnemucod e

tnemerusaem noitcurtsnoc fo euqinhcet dezilacol a  

2. epat gnirusaeM  

3. ,snoitadnuoF  sllaw  secneF dna  

 teehS noitamrofnI -2 

.1   000652,A  

000543 ,B  

000234 ,C  

D 000222 ,  

.2  natsid erusaem ot desu dna relur elbixelf a si :epat gnirusaeM ec . 

 teehS noitamrofnI -3 

 1. W × L = )elgnatcer( A  

mm )0003 × 0005( = 2 

mm 000 000 51= 2 

m 51= 2 

.2  H× W × L = )dilos ralugnatcer( V  

m11×7×3= 3 

m132 = 3 
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  MLTT eraperp sreniart ehT  

 

oN  maN

e 

noigeR  oitacifilauQ

level n  

  TEVT

egelloC  

rebmun enohP  

 edeyeZ

elkeT  

B  eriD

awad  

CTPDD  523511290

9 

moc.liamg@22susejdez  

 latlebiY

eitihS  

B rahmA

a 

 ATTOM

CTP  

825542190

8 

oc.liamg@9102nocebiy

m 

 uterihiM

asibmaH  

B  aimorO   EITMEKEN

CTP  

455910190

6 

moc.liamg@ibmahim  

 ukiraT

ngegA/W

e 

A PNNS  CTPALID  612156190

7 

moc.liamg@275hsumam  

 eirkiF

warefihS  

A elamoS  CTP AGIJIJ  144923190

2 

 

 

       rotatilicaF  

oN  emaN  noigeR    TEVT

 uaeruB  

rebmun enohp & liamE   on enohP  

1  nuhaliT

eyafseT  

 arahmA   arahmA

  DEVT

uaeruB  

 eyafset nuhaliT

moc.liamg@utenwee  

3281560490  

2   erebA

 wangaD  

arahmA   arahmA

EVT  D

uaeruB  

moc.liamg@01wangaderebA   14 1 81 90

11  

 

3  ihaludbA

 eratkuM  

elamoS   ailamoS

 TEVT

uaeruB  

 8605365390  
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